YAGHESE

95% {5 #E X1
& TR LR
2 (1.00 /7 2.00) DFYA L 154 .088 271
J~k—b 4-5 = 1.00 IZxiLT 686 590 798
I-k—b 4-5 = 2.00 [ZHLT 4.443 2.849 6.927
HMr-2 0% 416
VithE
4-6
1.00 2.00 it
7 100  EX 31 74 105
B EHR 59.0 46.0 105.0
20% 29.5% 70.5% 100.0%
2.00 EH 202 108 310
HSER 174.0 136.0 3100
23D % 65.2% 34.8% 100.0%
=11l B 233 182 415
: HFER 233.0 182.0 4150
20% 56.1% 43.9% 100.0%
hM2ERE
IEERRE | EREE EREEER
& BfE E (FED £ (D & (FAD
Pearson 1125 40.456° 1 .000
EEE I 39.022 1 .000
AE 40.812 1 .000
Fisher ME L .000 .000
HERIL BRI kDR 40.359 1 000
B r-20OH 415

a. %2 RICHLTOHEE
b. 0 t)L (0% IXHAFFEEHN 5 KRB TY, B/ HFERIL 46.05 T,

YRIHETE
95%{= A X {if
E TR R
2 (1.00/2.00) DFyRIE 224 139 362
J—ik—b 4-6 = 1.00 [ZHLT 453 333 616
J—ik—F 4-6 = 2.00 [THLT 2.023 1.663 2.461
B r-A0% 415
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YirE

1.00 2.00 &&t
2 700  EX 73 32 105
HFER 87.3 17.7 105.0
2MD% 69.5% 30.5% 100.0%
2.00 EH 273 38 311
HIFES 258.7 52.3 311.0
2M% 87.8% 12.2% 100.0%
&t B 346 70 416
B 346.0 70.0 416.0
2M% 83.2% 16.8% 100.0%
N 2RE
EEEEMN | EHAE EHEEERE
{E BHEE E (HAD E (FAD R (FAD
Pearson 01 238 18.696° 1 000
EF B 17414 1 .000
AEL 16.965 1 .000
Fisher DE % .000 000
b5 Yillat o-Ei] pol AR 1 18.651 1 .000
BHhiEh-A 0% 416
a. 2x2 RICHLTHOHHE
b. 0 tl (0% IFHATFREMA 5 KRB TT, BR/DHFERIL 17.67 TY,
RYHETE
95%{ZHE R
& TR iR
2 (1.00 / 2.00) OAYA I 318 186 543
J-ik—h 4-7 = 1.00 (XL T 792 693 905
J—k—b 4~7 = 2.00 ITHLT 2.494 1.647 3.777
BHMERr-20% 416
VIp ]
4-8
1.00 2.00 =k
2 1700 EX 42 63 105
HFER 65.5 395 105.0
20% 40.0% 60.0% 100.0%
2.00 E# 218 94 312
HATFEE R 1945 1175 312.0
2MD% 69.9% 30.1% 100.0%
A&t B 260 157 417
HFEH 260.0 157.0 417.0
20% 62.4% 37.6% 100.0%
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NM2ZRE

BEEER ERAERE IFHEEHE
E BHEE & (@D = (HAD & (Fa)
Pearson A1 23¢ 29.863P 1 .000
EiRfs e 28.604 1 000
AEL 29.191 1 000
Fisher DE % .000 000
BB BRI kDER 29.791 1 000
BMEr-208 417
a. 2x2 R TOHETE
b. 0 il (%) ITHFFERAS 5 R TT, B/DHIFELIL 39.53 TT,
YAYHESE
95% {5 8 X R
& TR LR
2(1.00/ 2.00) DA X EE 287 182 A55
1-H—bh 4-8 = 1.00 [THLT 572 448 732
J—k—b 4-8 = 2.00 [ZHLT 1.991 1.582 2.507
BHr-2m a17
INAF
4-9
1.00 2.00 =5
2 100 =X 50 55 105
HFEHR 59.8 452 105.0
20% 47.6% 52.4% 100.0%
200 E#H 187 124 311
HISEN 177.2 133.8 3110
20D% 60.1% 39.9% 100.0%
&t B 237 179 416
HIFER 2370 179.0 416.0
2D% 57.0% 43.0% 100.0%
M2 e
FEEENE | CREERE | EHRAER
& BHHE  (FAED = (FED E (D
Pearson O)N1 23 50110 1 025
SIS 4514 1 034
AE L 4976 1 026
Fisher OE#E X 030 017
HRB LR RN L BERY 4.999 1 025
BT 20% 416

a. 2x2 /ITHLTCOMEE

b. 0 til (0%) (THAFEERA 5 RB T, /RIS ERIL 4518 TF,
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YRYHEE

95%1"%?@5[5]
& T ]
2 (1.00 / 2.00) OF9ATE 603 386 941
I-ik—b 4-9 = 1.00 IZHLT 792 636 987
J-H— 4-9 = 2.00 I=xLT 1.314 1.046 1.650
Hrhishr-A0 %k 416
VY E:]
4-10
1.00 2.00 S
p) 1.00 B 71 34 105
HFEH 83.5 215 105.0
20% 67.6% 32.4% 100.0%
2.00 EH 260 51 311
R 2415 63.5 311.0
20 % 83.6% 16.4% 100.0%
it EH 331 85 416
HSEH 331.0 85.0 416.0
20% 79.6% 20.4% 100.0%
M 25%#E
EREERH | THAERE  FHEER
B BHHE 2 (FhAD 2= (M) 2 (FraD
Pearson 0) 3 23 12.333° 1 000
BRI 11.370 1 001
AEL 11.488 1 001
Fisher DEER 001 .001
BRI RR = K BHEEY 12.303 1 000
B r-20% 416

a 22 RIZHLTHOAEE
b. 0 €l (0% IZHATFEERAY 5 KRB TT, RIHSFEHIL 21.45 TF,

YR HESE
95%4E 58 X i
& TR LR

2 (1.00 / 2.00 MOFYXLE 410 247 680
a—fi—h 4-10= 1.00 [Zxt
LT 809 702 932
J-f—p 4-10= 2.00 | =3¢
LT 1.975 1.359 2.868
B r—20% 416
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(BER-3) B, FEEIEENSOIOREK

VIV E -3
6
.00 1.00 2.00 3.00 4.00 At
1.00 ER 2 55 27 14 11 109
BER 1.0 55.7 22.5 16.6 13.2 109.0
20 % 1.8% 50.5% 24.8% 12.8% 10.1% 100.0%
2.00 B 2 160 60 50 40 312
BEER 30 159.3 64.5 474 378 312.0
20 % 6% 51.3% 19.2% 16.0% 12.8% 100.0%
&t B 4 215 87 64 51 421
HHFEHR 40 215.0 87.0 64.0 51.0 421.0
20D % 1.0% 51.1% 20.7% 15.2% 12.1% 100.0%
WM2giEE
HEHERE
] BEE E (FEED
Pearson D125 3.4572 4 .485
AEH 3.297 4 509
BREBICRRI - & HER 719 1 396
BMEr-2DE 421
a. 2 b (20.0%) [(THIFERA 5 KRBT, B/MNAFERIE
1.04 ©9,
(BEHR-4) BUE, JEBUEIREXE
VITVE
7
1.00 2.00 3.00 4.00 5.00 6.00 7.00 8.00 5%

2 100 EXN 37 5 7 9 17 20 0 7 102
HEEd 274 9.0 6.5 3.0 17.2 29.6 15 8.0 102.0
20 % 36.3% 4.9% 6.9% 8.8% 16.7% 19.6% 0% 6.9% | 100.0%

200 EH 73 31 19 3 52 99 6 25 308
BIFES 826 27.0 195 9.0 51.8 89.4 45 240 308.0
2M% 23.7% 10.1% 6.2% 1.0% 16.9% 32.1% 1.9% 8.1% | 100.0%

&5t E# 110 36 26 12 69 119 6 32 410
giesEHd 1100 36.0 26.0 12.0 69.0 119.0 6.0 32,0 4100
2D% 26.8% 8.8% 6.3% 2.9% 16.8% 29.0% 1.5% 7.8% | 100.0%

hM2EBRE
iR RERE
E BHE 2 (FED
Pearson 0ON1123% 29.322° 7 .000
AEL 28.288 7 .000
BB LBB I kDER 5.698 1 017
HMEr-A0# 410

a. 34l (18.8%) IZHAFBEHA 5 R 9, B/ AL

1.49 T,
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JAYHEE

&

2(1.00 / 2.00) DFYA LL

a

a JAPHEEMEA BITHETEEEA,

22 RAIZOHETRENET,

(BEE-5) BEFTRRETOHEH

Inrg
2-11-1
2 1.00 2.00 &t
100 2-10 _ 1.00 EXN 6 70 76
EEH 5.7 70.3 76.0
2-10D % 7.9% 92.1% 100.0%
2.00 E# 2 29 31
B EH 23 28.7 31.0
2-10D % 6.5% 93.5% 100.0%
&t B 8 99 107
HAEEESK 8.0 99.0 107.0
2-10D % 7.5% 92.5% 100.0%
hM2ERE
BEAENE | EHEENE | FTRAEER
2 & BHE #E (H4) ERGEREN) = (D
100  Pearson OB 23 066° 1 797
BB .000 1 1.000
AEL 068 1 794
Fisher OB &k 1.000 578
SRR T B ER 066 1 798
BYEr-20% 107
a. 2 RICHLTOAEE
b. 1 4l (25.0% ITEISFERMN 5 RFTT, B/ EFERIT 232 TF,
YRIHEE
95%{= 38 X fff
2 & TR B
1.00 g(_))‘ %;3%,:2' 1.243 237 6.522
i'}*&"éﬂ{% 1.224 261 5.736
i?&fé;}z:% 985 879 1.103
BHr-A0% 107

_64_




VPSS

2-11-2
2 1.00 2.00 =11
100 210 100 =X 31 45 76
B EEE 22.7 53.3 76.0
2-10D % 40.8% 59.2% 100.0%
2.00 B 1 30 31
HFEH 9.3 21.7 31.0
2-10D % 3.2% 96.8% 100.0%
=11 £ 32 75 107
BSEHR 32.0 75.0 107.0
2-10D % 29.9% 70.1% 100.0%
h2ziEe
WEEER | ERAEEMR | FHEER
fE_. B = (@D 3 () E(HED
1.00 Pearson MA125E 14.8215 1 .000
HRBIE » 13.083 1 000
AEL 18.955 1 .000
Fisher M EEE 000 000
BB LR S %8R 14.683 1 .000
BAMRr-20% 107
a. 2x2 RICHLTOHEE
b. 0 b (0%) [ZHATFESA 5 KRB TT . B/NIFREHIT 927 TF,
YAIHETE
95%{= 48 X fs]
B TR LB
1.00 36)‘ ‘(’D(;f%tz' 20.667 2.676 159.610
ngg"é;}t% 12.645 1.804 88.612
:}_*6?,?;;::% 612 502 745
Bahiahr-20% 107
VIV E
2-11-3
2 1.00 2.00 S5t
1.00 2-10_1.00 B 24 52 76
HREH 17.0 59.0 76.0
2-10M % 31.6% 68.4% 100.0%
2.00 EH 0 31 31
HHEH 7.0 240 31.0
2-10D % 0% 100.0% 100.0%
&&t B 24 83 107
HfREH 240 83.0 107.0
2-10D % 22.4% 77.6% 100.0%
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hM2EBRSE

BEEEW | FTHEAER | ERAER
2 \[El BHHE # (D #E (FED 2 (D
1.00 Pearson 00125 12.620° 1 000
ERIEIE 10.870 1 .001
EELL 19.116 1 000
Fisher DEE* .000 .000
BB LRR R B 12.502 1 .000
HEhishr-2n % 107
a. 2x2 RIZHLTOAFHE
b. 0 ) (0%) IXEFEHAN 5 KRBT, /DS ERIL 695 TF,
YAYHEE
95% 15 %8 X 5]
2 & TR LB
1.00 ij&"él}t% 684 587 797
HHGr-2 0 107
ViibE S
2-11-4
2 2.00 it
1.00 2-10  1.00 EH 76 76
HFER 76.0 76.0
2-10M % 100.0% 100.0%
2.00 EH 31 31
B EH 31.0 31.0
2-10 D % 100.0% 100.0%
&t E# 107 107
HIFEH 107.0 107.0
2-10 D % 100.0% 100.0%
h2ZE
2 I}
1.00 Pearson ON4 28 — a
Hr-20% 107

YAYHERE

&

2
1.00

2-10 (1.00 / 2.
00) MFyXtL

a

a. 2-11-4 BN—ED=OHETBITFEIhEE A,

a. 2-11-4 N—ED-OHEFTEILFHEShEL A,
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JNAFE

2-11-5
2 1.00 2.00 SET
1000 2-10 100 EX 9 67 76
HIFER 6.4 69.6 76.0
2-10D % 11.8% 88.2% 100.0%
200 EE 0 31 31
HFEL 2.6 284 310
2-10D % 0% 100.0% 100.0%
&5t E# 9 98 107
HfsEH 9.0 98.0 107.0
2-10D % 8.4% 91.6% 100.0%
hM2ERE
BILEER | EHRARR | CRASHK
& BHE 2 (FEAD 2 (A = (FAD
100 Pearson ON{ 23 4.008° 1 045
S 2618 1 106
AEL 6.489 1 011
Fisher MEE % : 056 040
BB LERR - K B8R 3971 1 046
BIRI-2DH 107
a. 22 RICHLTOHEHE
b1t (25.0%) (FHIRFRERA 5 RBTT, B/MPIEERIL 261 T,
YRYHESE
95%{E2E X [H]
& TR LR
1.00 3“;&;,?}:}2 882 812 957
BEah-20% 107
VI E
2-11-6
2 1.00 2.00 &t
1.00 2-10 1.00 EH 12 64 76
sy 9.2 66.8 76.0
2-10MD % 15.8% 84.2% 100.0%
2.00 B 1 30 31
HIFEH 38 27.2 310
2-10MD % 3.2% 96.8% 100.0%
=) B " 13 94 107
BB 130 94.0 107.0
2-10D % 12.1% 87.9% 100.0%
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h{2585E

FREENE | THEERE | THAERE
& BB & (HaD = (A EYGRE)
1.00 Pearson (DI 25 3.256° 1 071
ESHEIE » 2.186 1 139
A EL 4.025 1 045
Fisher DE &k 103 062
BRI ERC 1558 3.226 1 072
Hihighr-20 107
2 22 FIHLTOHAHE
b. 1tk (25.0%) [EHABERM 5 RiFTT . B/PBFERIT 377 T,
YRHHEE
95%{E %8 X i
2 ( & TR i)
1.00 2-10 (1.00 / 2.
00) DAYR 5.625 699 45277
I~ 2-11-6
2100 [SHLT 4.895 665 36.051
I~ 2-11-6
2900 [CHLT 870 74 978
BIr-A0% 107
VI E S
2-11-1
2 1.00 2.00 &&t
7.00 2-10 7.00 EH 7 69 76
HSER 5.7 70.3 76.0
2-10 D % 9.2% 90.8% 100.0%
2.00 [E%03 1 30 31
HIFER 2.3 28.7 31.0
2-100 % 3.9% 96.8% 100.0%
&t EH 8 99 107
HSEH 8.0 99.0 107.0
2-10 D % 7.5% 92.5% 100.0%
M2gigE
BEEER | CREER | CHRAER
i B 2 () = () = (Hf)
7.00 Pearson 25 1.140° 1 286
HERIEE 2 439 1 508
AEL 1.323 1 .250
Fisher D&% 433 266
R LR 15 ER 1.129 1 288
HMEr-20O% 107

a. 2x2 ®ITHLTOHEE

b. 1 4l (250%) [LHITFERA 5 KRB T B/ HFEHIL 232 TF,
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YRYHEE

95%{E R R
2 & T LB
1.00 36)1 %}f}ff' 3.043 359 25.834
ORIt 2.855 366 22251
ORI ) 938 852 1,033
-2 0# 107
VivE:
2-11-8
2 1.00 2.00 =X
1.00 2-10 1.00 EH 1 75 76
HSEY i 75.3 76.0
2-10D % 1.3% 98.7% 100.0%
2.00 E#H 0 3 31
HFEHR 3 30.7 310
2-10D % 0% 100.0% 100.0%
&t B 1 106 107
FAREH 1.0 106.0 107.0
2-10D % 9% 99.1% 100.0%
M2ERE
WEHERE | THRAEE | THEYESR
2 & BEHE = (W) = (W) = (FD
7.00 Pearson N1 23 4120 1 521
HEIBIE @ .000 1 1.000
AEL 688 1 407
Fisher MDEREE 1.000 710
BRI L 4aRI [ 15 ERY 408 1 523
Hhizhr-A0% ‘ 107
a. 2x2 RIZHLTOHEE
b. 2 &L (500%) [XHATFEEHA 5 KRBT, B/ ASESIL 29 ©F,
YRHESE
95% {5 FARC A
2 i TR R
1o AR 987 962 1.013
HEEr—-AD 107
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yave

2-11-9
2 1.00 2.00 &5t
1.00 2-10 100  EX 8 68 76
S EH 5.7 70.3 76.0
2-10M % 10.5% 89.5% 100.0%
200 E 0 31 31
HEEH 2.3 28.7 31.0
2-10D % 0% 100.0% 100.0%
&t E3k 8 99 107
B 8.0 99.0 107.0
2-10D % 7.5% 92.5% 100.0%
M2 E
BREERW | LHRAEERE | LHEEER
2 & BHE & (HAD ZE (FEfD (A
T00  Pearson Oh{2% 3.527° 1 060
Eiis ke 2.169 1 141
AELL 5.733 1 017
Fisher DE %% 102 058
RBN R B - K558 3.494 1 062
H¥iar-2m% 107
a. 2x2 RITHLTHAEE
b. 1 4l (25.0%) IFHIFFEEA 5 RFTT, S/NMABERIL 232 TY,
YRG5
95%{5 38 X i
2 & TR LR
O 895 828 966
G r-20% 107
nrsk
2-11-10
2 1.00 2.00 St
100  2-10 100 EX 2 74 76
EATFRERK 1.4 746 76.0
2-10D % 2.6% 97.4% 100.0%
2.00 EH 0 31 31
HFER 6 30.4 31.0
2-10D % 0% 100.0% 100.0%
EH) B 2 105 107
BHIFEESL 2.0 105.0 107.0
2-10D % 1.9% 98.1% 100.0%
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L EENE | THAEHE | TRASERE
2 & HHE F (FEAD F (D 2 (KD
1.00 Pearson ON125E 8310 1 362
’ EEEIEe 016 1 .901
AEL 1.384 1 .239
Fisher MEE* 1.000 503
$RE 4R kB 5ER] 824 1 364
BHahizhr—-A0% 107
a. 2x2 RICHLCTOHETE
b. 2 &)l (50.0%) IXHAFFEESAS 5 R TT . /DB ERIT 58 TF,
YASHESE
95%{5 #EX 4
2 & TB iR
1.00 2—2;%6'",3;;1:%0 974 938 1.010
BRE-208 107
DA%
2-11-11
2 1.00 2.00 =X
1.00 2-10 _ 1.00 ER 16 60 76
HEEH# 12.8 63.2 76.0
2-10 M % 21.1% 78.9% 100.0%
2.00 £ 2 29 31
HEEH 5.2 25.8 310
2-10 0 % 6.5% 93.5% 100.0%
&5t R 18 89 107
HFEH 18.0 89.0 107.0
2-10 D % 16.8% 83.2% 100.0%
hMoZgiRE
MEEENE EHRAENE | FRASHE
2 & BHE () = (D (KD
1.00 Pearson 074 25 3.355° 1 067
EiEs e 2.392 1 122
AEL 3.896 1 048
Fisher DB &% 089 _ 055
BRI R BHEES 3.323 1 068
-2 O 107

a. 2 RICHLTOHETE
b. 0 &1l (0% ITHAFEHKM 5 RETT, S/NAFEHNIE 521 ©F,
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C YRYHERE

95%{=%8 KRS
2 Ed TR LR
100 56; %;32,&2- 3.867 833 17.953
SR, 3.263 797 13.357
APORER L 844 728 979
BMEr-2ADE 107
(BEFEK-6) BUERR R EH
Jnrge @
2-15~1
1.00 2.00 Sit
7-14  1.00 B 10 65 75
HATE Ry 2.4 72.6 75.0
2-14 M % 13.3% 86.7% 100.0%
2.00 K 0 237 237
HATF e 76 2294 237.0
2-14 @ % 0% 100.0% 100.0%
&5t B 10 302 312
TR EH 10.0 302.0 312.0
2-14 D % 3.2% 96.8% 100.0%
a. 2=200
hM 2B
EOEEEWE | ETHREER | CHRAERE
B BHE = (D = (FED = (F{ED
Pearson D11 25¢ 32.646° 1000
s 28.490 000
AEL 29,583 .000
Fisher DB % 000 .000
R R k258 R 32.542 000
B r—AD% 312

a. 22 BITHLUTCOHEE ,
b. 1 tll (25.0%) [FEAFFESA 5 RE T, B/MAGESRIL 240 TT,

c. 2=200
JAGHESE @
95%{= 8 BX i}
fi8 TR B
i-‘;.11:‘)_0 |~l :2;'1}?:—15 867 793 947
BREr-20% 312

a.

2=200
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2-15-2
1.00 2.00 =it
2-14 100  EX 11 64 75
HARF S 26 72.4 75.0
2-14 D % 14.7% 85.3% 100.0%
2.00 EH 0 237 237
HFER 8.4 228.6 237.0
2-14 D % 0% 100.0% 100.0%
) B 11 301 312
HFER 11.0 301.0 312.0
2-14 M % 3.5% 96.5% 100.0%
a. 2=200
2B
BEHEH | EREER | EREER
{E HHE £ (FAD (D £ (FaD
Pearson (DN 23€ 6.030° 1 .000
31.847 1 .000
32.667 1 .000
Fisher DEEE 000 000
ER LR R DR 35.915 1 000
HHEr—-A0# 312
a. 22 RITHWLTHOHEE
b. 1 L (25.0%) IFHARFEIAS 5 KRBT . B/ASFERKIL 264 TT,
c. 2=200
YAHHEE @
95%{= %8 X fif
& TR BB
o ",:2;}5[:% 853 77 937
HHMBr-A0#% 312
a. 2=200
oAk
2-15-3
1.00 2.00 &5t
2-14 100  EX 23 52 75
BT RERY 55 69.5 75.0
2-14 D % 30.7% 69.3% 100.0%
200 [EH 0 237 237
BRISEH 175 219.5 237.0
2-14 D % 0% 100.0% 100.0%
=L B 23 289 312
B 23.0 289.0 3120
2-14 D % 7.4% 92.6% 100.0%
a. 2=200




hM2%iRE

EEEENE | EREER | CTEAEE
& BHHE E (FaD E (D = (D
Pearson 01 25% 78.464° 1 1000
EiREir 74.037 1 000
AEL 71.745 1 000
Fisher MEEX .000 .000
BRI RBICL5EH 78.213 1 000
B -2 0% 312
a. 22 RICHLTHHHE
b. 0 b (0% [ZEAFEHA 5 RiFE T, B/ ASFERIL 553 TY,
¢. 2 =200
DAGHEE 2
95%{= 78 X R4}
e TR BB
i;‘;?,:z;}f:% 693 596 806
Hir-2 0% 312
a. 2=200
VIVE &
2-15-4
1.00 2.00 &&t
2-14 100 EX 3 72 75
BIFEH N 743 75.0
2-14 M % 4.0% 96.0% 100.0%
2.00 FE S 0 237 237
HFER 2.3 2347 237.0
2-14 M % 0% 100.0% 100.0%
&5t 3 3 309 312
HFER 3.0 309.0 312.0
2-14 D % 1.0% 99.0% 100.0%
a. 2=200
h25RRsE
BOEHER | CHREER | CLHEEERE
{E BHE K (mE{ED £ () £ (FA)
Pearson 31 23 9572b 1 1002
EiEre 5.832 1 016
AEL 8.646 1 .003
Fisher DB % 013 013
BRI LRI C K BER 9.541 1 .002
BHEr-20% 312

a. 2x2 RITHLTHOHAEE
b. 2 L (50.0%) (FEAFEHMN 5 RETY ., B/INHSFERIE 72 TF,

c. 2=200
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YRYHEE 2

95%{= %8 X ]
& TR !
2;@5*,:2;;?:% 960 917 1,005
BEr-20% 312
a. 2= 2.00
JaAFE?
2-15-5
1.00 2.00 =X
2-14 100 EX 11 64 75
B ER 26 72.4 75.0
2-14 D % 14.7% 85.3% 100.0%
2.00 B 0 237 237
BIFER 8.4 2286 237.0
2-14 M % 0% 100.0% 100.0%
&t EH 11 301 312
B 11.0 301.0 312.0
2-14 M % 3.5% 96.5% 100.0%
a. 2=200
hM2FREC
EEEER CHRAEER CEEERE
& BHEE = (FAD = ([HaD = (Fran
Pearson 0)h4 22 36.030° 1 .000
EEre 31.847 1 .000
LELE 32.667 1 000
Fisher DEE. .000 000
BRI 4RI (- k28RS 35915 1 .000
Biir-20% 312
a. 22 RITHLTCOAEE
b. 1 bl (25.0%) IZEAERAN 5 RF T, S/NHHEHL 264 TT,
c. 2 =200
YAHHEE 2
95%{= %8 X fi§
& TR R
o bé;}f:% 853 77 937
BRI r-A 05 312
a. 2=200
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2-15-6
1.00 2.00 =18
2-14 100 EX 9 66 75
BRISFER 2.2 72.8 75.0
2-14M % 12.0% 88.0% 100.0%
2.00 B 0 237 237
HER 6.8 230.2 237.0
2-14 D % 0% 100.0% 100.0%
&5t B 9 303 312
B EH 9.0 303.0 3120
2-14 MO % 2.9% 97.1% 100.0%
a. 2 =200
M2FERE
BREHERWR | EREER | ERERE
(el BHEE () £ (FAD £ (FAD
Pearson D125 29.285P 1 1000
EiEB e 25.158 1 .000
KEL 26.523 1 .000
Fisher DEEX .000 000
BB RB R DER 29.191 1 .000
HHEr-A0 312
a 22 RICHLTOAHE
b. 1 ¥ (25.0%) [ZHAGFEEA 5 RF T, HR/AMEELIL 216 T,
c. 2=200
YAGHESE 2
95%{E #H X
& TR LR
:—2%6",:21;{"% 880 809 957
-2 08 312
a. 2=2.00
ViVE
2-15-7
1.00 2.00 =1
2-14 100 EX 9 66 75
MFER 2.2 728 75.0
2-14M % 12.0% 88.0% 100.0%
2.00 EH 0 237 237
HSER 6.8 230.2 2370
2-14 M % 0% 100.0% 100.0%
&5t ER 9 303 312
IR ER 9.0 303.0 3120
2-14 M % 2.9% 97.1% 100.0%
a. 2=200




M2gEREe

BENER | CHEAER | TRAEER
{iE HHE ZE (s £ (FAD E (5D
Pearson 014 23% 9.285° 1 000
HEE e 25.158 1 .000
AELE 26.523 1 .000
Fisher D EE% 000 000
BBERA XD 29.191 1 .000
B r-20% 312
a. 2 RIZHLTOAHE
b. 1 Hl (25.0%) IXEAEEERAY 5 KRB TT, B/MIBESNIT 216 T,
c. 2=200
YRIHEE 2
95%EEEX A
{& TR LR
: 2_21&) '“,:ZI}ECZC 880 809 957
AREr-2n# 312
a. 2=200
Jnask e
2-15-8
1.00 2.00 &5t
2-14 100 EX 1 74 75
HSEH 2 74.8 75.0
2-14 M % 1.3% 98.7% 100.0%
2.00 EH 0 237 237
B 8 236.2 2370
2-14 D % 0% 100.0% 100.0%
it B 1 311 312
HSER 1.0 311.0 3120
2-14 M % 3% 99.7% 100.0%
a. 2=200
M2ERE
FEEEW FHAEEHE | TREER
fi& HEE | R GEAD | & GEED | = (BED
Pearson 0)h4 23 3.170° 1 075
EiE e 370 1 543
AELE 2.861 1 091
Fisher MEE% 240 240
BB AR Rk 5EpS 3.160 1 075
H#MEr-20% 312

a. 22 |ITHLTOMAETE
b. 2t (50.0%) (FHEFEHA 5 KRBT, BMBABERIT 24 TF,

c. 2=200
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YAYHESE @

95HE XS
& TR LR
SPURENIC 987 961 1,013
B h—-2 D8 312
a. 2=200
VIVE &
2-15-9
1.00 2.00 =Xl
2-14 100 =X 2 73 75
HFEH 5 745 75.0
2-14 M % 2.7% 97.3% 100.0%
2.00 3 0 237 237
R 15 2355 | 2370
2-14 M % 0% 100.0% 100.0%
&5t E# 2 310 312
BATFER 2.0 310.0 3120
2-14MD % 6% 99.4% 100.0%
a. 2=200
hM2ERES
BREEW | LREERE | EREERE
& BHHE £ (FaD F (HE) = (FED
Pearson O)1 25¢ 6.361° 012
EiRS e 2.863 091
AEL 5.743 017
Fisher MEEE 057 057
BRI L 5E 6.340 012
HHar-20# 312

a. 22 RICHLTOHEE
b. 2 £l (50.0%) [ZEAESEERA 5 kBT, SIS EMIT 48 T,

c. 2=200

YRIHETE 2
95%ERE X i
fis TR R
:—2%_0 I‘,:ijf% 973 938 1010
BHEr-20# 312
a. 2 =200
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